Table S1 Counts (Log CFU/g) of different microbial populations in control and ozone treated (O2 and 04) rinds during storage at 4°C.

Time L. monocytogenes Total Viable Count Coagulase-positive staphylococci Enterococci Mesophilic lactobacilli Mesophilic cocci Yeasts and Moulds

(days) Control 02 04 Control 02 04 Control 02 04 Control 02 04 Control 02 04 Control 02 04 Control 02 04
0 3,7+£0,1 3,5+0,1 3,5+02 78402 80+03  81+0,1 44+00 51+06 41£08 34402 35+06 34+07 6,0+04 62+02 57+02 80+0,0 79+0,1 8,0+0,3 84+03 84+05 8,7+02
3 34+0,1a 40+0,1b 3,8+0,2ab 8,0=+0,1 8,0+0,1 83=+0,1 36+03a 4,7+0,5b 4,1+0,3ab 26+06a 3,7+0,1b 24+04a 6,2+0,2 6,5+0,2 6,1 0,1 7,7+02a 79+0,1ab 8,4+0,1abc 9,0+0,1 89=+0,5 9,1+0,2
7 35+£02a 4,1+03b 3,9+0,3ab 7,7£0,6 8,1+0,2 8,1+£0,1 53+0,2 53+£0,2 5,0+0,1 2,4+0,6 2,8+04 2,8+0,3 6,1 £0,1 6,5+0,5 6,5+0,5 7,8+0,1 8,0£0,2 8,0£0,2 8,6+0,3 88+0,1 8,8+£0,2
14 42+0,2 43+0,1 4,0+0,2 7,7+0,1a 84+02b 82+0,1b 54+£06 58=+0,8 4,9+0,2 32+04 2,9+0,2 3,3+0,1 6,3+0,5 6,3+0,1 6,1 +£0,3 8,2+0,3 8,0+0,2 79+04 93+£05a 9,0+0,1a 8,8+0,0abc
21 4,3+0,1 42+03 4,3+0,3 80+0,1a 85+03b 82+0,1ab 5,3+0,1 6,0+0,3 59+0,2 3,5+0,7 3,8+0,2 39+0,3 53+0,5 5,1+0,3 5,0+0,1 7,4 +0,1 8,0+£0,4 7,9+0,2 9,1+0,2 9,0£0,5 8,7+0,1
28 4,3+0,1 4,6 +0,1 4,5+0,1 85+0,2 84=£0,1 84+0,2 53402 6,2+0,2 5,5+0,3 3,1+0,0 3,6+0,0 33+0,3 55+03a 4,6+05b 47+04Db 7,7+£0,4 8,2+0,1 7,7+0,1 9,0+0,1 8,8=+0,2 8,9+0,3
35 41+£0,0 43403 4,1+0,1 83+0,5 8,1+0,1 82+0,3 5,9+0,1 5,6+0,3 5,8+0,5 3,0+0,3 2,9+0,2 3,2+0,6 42+04 42+0,2 4,6+0,3 8,0£0,8 7,8+0,2 7,4£0,6 9,1+£0,0 89+0,3 9,0+ 0,1
42 35£0,5 4,0£04 39+0,5 82+0,3 8,3+0,1 8,3+0,0 5604 48+£03 51£0,5 3,0+0,1 2,8 +0,1 3,3+0,3 4,6 £0,7 4,2+0,3 4,3+0,1 7,7+0,6 7,8+ 0,0 7,8+£0,2 89+0,1 8,9+0,1 8,9+0,1
49 32+1,1 3,9+0,1 4,0+0,1 82+0,0 83+0,0 84+0,1 4,9+0,3 5,1+£0,7 5,1+0,8 32+0,3 3,7+0,6 3,5+0,5 4,9+0,2 49+04 5,1+0,2 7,6 £0,2 7,9+0,0 8,0+0,1 88+0,1 88+0,0 8,9+0,0
56 2,7+0,1a 4,0+£02b 39+0,1b 7,9+0,1 7,9+0,0 7,7+0,4 54+04 50+£0,3 49+13 32+0,2 3,6+0,3 34+0,1 4,6 +0,2 4,6+0,2 4,7+0,2 7,7£0,0a 78+03a 70+£0,7b 89+0,1 8,7+0,1 9,0+0,2
63 2,6+03a 3,7+03b 3,7+02b 7,9+0,1 7,9+0,1 7,94+0,2 37403  3,8£1,0 41+1,5 2,6 +04 2,4+0,5 3,1+£0,3 43+04 4,7+0,1 4,1+0,1 53£04 52+0,3 52+03 86+04 88+£072 8,6+0,2

Average + Standard deviation of three replicates
Values followed by different small letters in the same row are significantly different according to the Tukey’s multiple comparison (p < 0.05)



